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Year 4: Remote Learning Schedule Answers

Maths Answers - Lesson 1

J Rosie is working out 93 + 3 using a place value chart.

Tens Ones

Q00
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000

a) Talk about Rosie’s method with a partner.

b) Complete the division.

\J Use place value counters to complete the divisions
a) 66 + 3 = d) 48 + 4 =

b)86+2=D e) !:39+3
<)50-:~5=D f) 84+4=|
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\) Dexter is working out 56 + 4 using a place value chart
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a)

[ can't do it
because I have counters
lejt over (99

Do you agree with Dexter?

Explain your answer

b) Work out 56 + 4 using place value counters

56 +4 =

)

&Y Use place value counters to complete the divisions

o)72-:-3:|r d) 48 + 6=
b)92+4:( W e) =45+ 3
()6575:\ ‘ f) 64+ 4=

)

&
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\) Teddy is working out 57 + 3

This division will
need an exchange [ (@0

How does Teddy know this? Talk about it with a partner.

J Amir is working out 68 + 4

68 +4=17

Talk about Amir’s method with a partner

) Use Amir's method to complete these calculations

0)42-3_ b)96-4_

®
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¢) 85+5= d) 84 +6=

J Kim has 92 beads.
She wants to share them equally between 4 friends.

How many beads will each friend get?

§ Write <, > or = to make the statements correct o
4

96»’-8\\>7Z.—6 95‘?5&')634—3
ﬂ\ | H)
51 +3 (—./64.4 98+7<‘: 95+ 5
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Maths Answers - Lesson 2

Ruse |
Maths
¥ J Complete the divisions. @
4
b) 26+ 5 = ﬂ4?+4:|:|
) B9 +4= g}?4+3:|:|
J Whitney is working out 49 + 4 using a place value chart. i
d)32+5= h) 81+7=
Tens Ones
O O O O J Complete the divisions. g
O OO a) 6+4= €) 45+ 3 =
37+4= 46+ 3 = ~
a) Talk obout Whitney's method with o partner. ,_O_/{ I8+ dm PR I:l
b) Why is there one counter left over?
39+4= 48 +3= |:|
40 + 4 = 49 + 3 = I:I
¢) Complete the division. b) 70 + 5 I d) 92 + 4 I ]
49 + 4 = r
MM+5= | 91 + 4 _l l
d) Use ploce volue counters to complete the divisions. @ 72+5= 90 + 4 =
What do you notice? Q I:
. 74 +5 = BB+ 4=
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b) What does the remainder represent?

©

9 Dora has been working out some divisions.
Talk about it with a partner.

72 + 4= 18 ¢) Complete the sentence.
73+ 4=187rl Annie can fill boxes with | %egqs left over.
74 + 4 = 18 r2
75 + 4 = 18 r3
'Y Jack has these bulbs. Q
I know without \-) P -/
working it out that 76 + 4
must be 18 r4 W Daffodils 49
a) Why does Dora think this? & Tulips 63
9 Crocuses 98

b) Explain why Dora is wrong.
¥ Fxp v 9 Equal numbers of each bulb are put into 4 tubs

AN CNC QUNO et : How many of each bulb will be in each tub?

Daffodils [ l Tulips [ ] Crocuses [ J

How many of each bulb will be left over?

J Eggs come in boxes of 6

Annie has 75 eggs

She wants to know how many boxes she can fill Daffodils Tu“mL J Crocuses
a) Complete the division to work it out
: i £ How many tubs could Jack use so that there are no bulbs )
<

[35]+[ 6 J-[12 ]3]
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Maths Answers - Lesson 3

I m
| Ruse Il
| A J Eva is working out 844 + 4 using a part-whole model.

J Jack is working out 844 + 4 using a place value chart. @

T

H
©0[0
©0[0
©0[0
©0|0
- It is cut into 4 equal pieces.

a) Talk about Jack’s method with a partner. Q What is the length of one piece of string?

b) Complete the division.

844 + 4 = '

\J Whitney is using flexible partitioning to divide a 3-digit number

Complete Eva’s method 844 + 4 =

J A ball of string is 848 cm long

oo oo

\) Use Jack's method to work out these divisions. @

a) 525 +5 = c¢) 840 + B =

b)636-:-6:[ ] d)903+3;l7

200 10 4

Could Whitney have partitioned her number another way? @

Rose Maoths 2019
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Use Whitney's method to work out these divisions. ,_3‘/ . .
__/' »..) Eva hos a piece of ribbon. \
a) 585 + 5 = €) 648 + 4 = The ribbon measures 839 cm long.

How much ribbon would be left over if she cuts it into:

b) 672 + 6 = d) 847 + 7 = a) 4 equol pieces

b) & equal pieces

\"J Complete the part-whole models and divisions.

c) 8 equaol pieces

Caon Eva cut the ribbon into equal pieces

with no ribbon left over?

(0] &

Explain your answer.

168+4= 169+4= «.J Use 15 counters and a ploce value chart.

What is the same ond what is different obout the calculaotions? a) Can you make a number that is divisible by 3? 1T —

@ O

Talk about it with a partner. @ b) Can you moke a number that hos o remainder
of 1 when divided by 37

¢) Con you moke a number that has a remainder

of 2 when divided by 37
\_‘} Complete the divisions

What do you notice? Talk about your findings with a partner

O

a) 258 + 6 c) 864 + 4 =

b) 623 + 5

d) 824 + 3 =

i

£
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Maths Answers — Lesson 4

! (Ruse )
(' Maths
/ J A pizzeria offers a choice of bases and toppings.
/
/
'/:' Pizza base Toppings
deep pan mushrooms
thin chicken
\) A canteen has 2 types of bread and a choice of onion
3 sandwich fillings. peppers
Bread Fillings sk
white cheese Complete the multiplication to work out how many different
brown tuna combinations of pizza there are.
chicken x =
a) List the different sandwiches that can be made. Complete the sentence.
One has been done for you. There are combinations of pizza.
cheese on white
\J Mo visits the funfair.
He buys a ticket that allows him to choose 1 ride and 1 game
at the fair
Rides Games
b) Complete the multiplication to represent the number of $ick
4 Big dipper Hoakardhuc
different combinations of bread and filling. Dodgems Basketball
l | Carousel Coconut shy
£ h Lucky dip
Complete the sentence Test-your strength
There are combinations. There are 8
a) different possible choices
¢) How many combinations would there be if there were 4 \/ of rides and games
choices of sandwich filling? <
Is Mo correct? L2
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Explain your answer. \_) Here are the oactivity choices available ot Summer Camp.
Sport Arts and crafts Outward bound
football painting wall climbing
tennis pottery kayaking
b) List all the different choices Mo can make. golf mosaics abseiling
origami

Each child is allowed to choose 3 octivities per day:

1 sport, 1 arts and crofts and 1 outward bound.

a) How many activity combinations are there?

Mo con moke different choices.

b) Due to a flooded pitch, football is concelled.

How many combinations are now possible?

J Aisha hos 3 heodbands and 5 hair slides.

Kim has 2 heodbonds and & hair slides.
Who has more choices of combinations for wearing one There or combinniions.

headband and 1 slide?

) Tom and Esther are building a snowman. o
—
They have a choice of 5 hats, 4 scarves and 2 pairs of gloves to

dress their snowman,

How many different combinations are possible?
(42 ][]
Talk about it with a partner, Q/JI There are combinations.

has more choices. l

|, st
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Maths Answers — Lesson 5

question answer marks
22 9.2
23 8
24 10.09

Total 24

question answer marks
] 802
2 379
3 272
4 594
5 246
& 16
7 WO E
8 7
9 3267
10 6003
1 6205
12 7578
13 45
14 72
15 1056
& 5769
17 12
18 +ord
19 3.63
20 3
21 0.68
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English Answers — Lessons 1

Readi p - P
Swimming Lessons
Retrieval
1.) Where would. we reach. in. verse. one?
The beach.

2.) Name two animals that the author uses as an example when he says. "If we lived. in the
earth’”.
Like worms. or moles.

Inference

3.) If we lived. in the sea like it says in line one, why do you think we would, need walking
lessoms?

I think we would need wualking lessons. because we would he used. to swimming rather than.
walking. For example;, now we wulk on land. and. have swimming lessons hecause we don't
need. to swim as gften as we walk.

4.) Explain why the author has suggested. that we would: come. to school. by, tunnel.

Vocahulary
5.) Find. the adverb which describes how someone is: moving.

"Stagger slowly".

6.) Use a dictionany to find the definition of pemplexed.
To be confused or hewildered by something that isn't understood. or certain.
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English Answers — Lessons 2

LO: To read the mythical story and answer questions.

vip
Features of myths include; heroes/heroines, mythical beasts, magical

items/powers, Gods & Goddesses, multiple settings including heaven, earth and,
hell.

Retrieval
1.) What could Thor’'s hammer do?
Kill an army with one blow or bring peace to the world.

2.) What did Odin tell Thor about Thrymy?
That Thrym wus a very strong giant and he should not fight him.

Inference

3.) Why do you think Freya wus so against marrying Thrym?

Because he wus an evil giant and she doesn't want to he his wife i she doesn't love
him. She doesn't want to he forced to marry him.

4.) What do you think about the character of Loki? What kind of personality traits
does he have? Use evidence from the text to support your reasons.

Loki wus clever hecause he came up with the plan to trick Thrym.. Loki is a good
Jriend as he helps Thor get his hammer hack.

Vocahulary

5.) Think of @ synonym for ‘strong,

Powerful, fierce, extreme, tremendous, mighty, terrific
Click here to watch another mythical story featuring Thor.



https://www.bbc.co.uk/teach/class-clips-video/english-ks2-viking-sagas-ep5/zf37scw

English Answers — Lessons 3

Various answers but some examples below:

Adjectives and expanded noun phruases: mighty, evil, strong, angry, special, sweet, sore

Verhs: running, lost, shouted, kill, bring, cried, looked, screamed, have, wanted, sent, find, found, ask,
shouted, knew, heard, die, said

Adverhs: suddenly, eventually, quickly.

Conjunctions: hut, so, and

Dialogue: Thor rowred, “I will find Thrym and kill him! T must have my hammer back.”

An apostrophe for possession: Thor's father, Thor's hammer

A fronted adverhial: Suddenly, When they arrived,

Improved section from Mighty Thor and the Magic Hammer (WAGOLL)

APter a while, exhausted Loki found Thrym and declared, “Thrym, Odin has sent me to ask you to give him
his important, mighty hammer back.” Thrym' face went as a red as a tomato and he let out an evil laugh.
“Ha, ha, ha! T am not going to give it hack!” shouted Thrym angrily, whilst waving his fists in the air. Lokl
kept quiet hecause he knew he could anger Thrym even more i he wasn't careful.
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English Answers — Lessons 4

Example answers of a good halance of dialogue and description:
Like a raging bull, Biorm squared up to his opponent. “I'm going to get you!” cried the old wuurior loudly,

Faster than a speeding car, Biorn's opponent raced down the hill. “I'm not scared of youw!” shouted Biom.
“I've got my sharp sword and shield ready to protect me.” As Biorm spoke, a giant eagle came swooping

down and flew off with the opponent Biorn wunted to fight.

surprise.

Read all of the English resowrce sheet to

Key Vocahulary
inwerted commas:
Punctuation marks - “ " -
used to demarcate direct
speech in a sentence.

direct speech: A sentence
where the exact words.
spoken are represented and,
shown in inwerted commas.
dialogue: A corwersation
or speech that is written
down as part of @ piece of
narative text.

Try to remember...
Break up your dialogue
with extra information
and description to keep.
your reader interested and,
wunting to read more.

Recognising what is
heing said.
If Caleb told me that he
wanted an ice cream, Caleb
could say the words:

I want an ice cream.

Become an Expert!

To become an expert at writing dialogue, try using the reporting clause
at the heginning of the sentence. You may also wish to add, in extra

information:

conwersation over and, over:

Whilst stamping his feet and waving his hands towards the cart, Caleb
shouted, “T want an ice cream!”

“Well, youw can’t have onel” 1 snappily replied, tired of having the same

“Can you please,” I reiterated, “stop uritating me!”

Congratulations - yow have reached expert status!

Now; write what is being said as
direct speech. You will need to correctly
punctuate the direct speech using
inverted commas, o capital letter
to introduce the speech, a piece of
punctuation at the end of what is
being said and a reporting clause to
tell the reader who is speaking.

“I want an ice cream,” Caleh told me.

‘ have a snack hefore your lunch,”

To create an extended. piece of
dialogue, you will now need to
include a response to what the

previous speaker has said.

Each time a new person speaks,
use a new line.

“I want an ice cream,”
Caleb told me.

“Well, yow can’t have onel” 1
snappily replied.
“Why not?”

“Mum told yow that yow can't

I explained.

In extended pieces of dialogue,
it is not always necessary to use
a reporting clause for every piece

of direct speech, as long as it is
obwious who would have said it.
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Reading Answers — Lesson 1

Reading for Productivity - Pahlo Picasso

Retrieval
1.) What wus. the first painting that Picasso finished. called? Le Picador

2.) Where did Picasso move to in. 19007 Paris

Inference
3.) Why do yow think Picasso’s paintings hecame more ahstract in his later years? Picasso

Summarise

4.) In @ sentence, summarise the cubism movement. Artists would paint a person or chiect
Vocahulary
5.) Picasso co-founded the cubism movement where artists would paint an ohject or person.

using geometric shapes. What does the word, 'geometric’ mean? A geometric pattern or
arrangement is made up of shapes such as squares, triangles, or rectangles.
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Reading Answers — Lesson 2

Reading for Productivity - Life in Viking Britain - History

Key vocahulary: longship, longhouse, woodwuorkers, leatherworkers, hrooches,

Retrieval

1.) Name three johs the Vikings had. Farmer, craft workers - Woodworkers,
leatherworkers, jewellers, hlacksmiths, potters.

2.) Which gf the following statements are true?

A. All vikings were ruiders.

B. Jewellers made plates.

C. The Norse people had their own. laws.

E. The king wus. at the top af the Viking, society.

3.) Write a fact ahout the long house. Any. of the following - Many Viking families
lived together in o longhouse. This was huilt from wood, or stone and had a thatched
or turf roof on top. With just one room for all the family to share with their animals, a.
longhouse would have heen a. arowded and smelly, place to live. There wus no
hathroom inside, but the Vikings kept. clean by wushing in. a wooden hucket. or heside
a stream. Instead of toilets, people used o cesspit, which wus a hole cutside dug for
toilet wuaste.

Inference

4.) Do you think the laws. being, passed from person to person by word: of mouth wus.
a good, or hbad, thing? Explain yowr answer:

Various: answers — Could. include; No because people could add extra, things on to
henefit themselves.

Vocahulary

5.) Find and copy one word, from the text that means. has great power. Powerful.

6.) Vikings were very skilled people. What does the word, skilled mean? having or
showing the knowledge, ahility, or training to perform. a. certain activity, or task well.
7.) Write a. couple gf sentences. using the. new words youw have discovered from.
questions. 5 and. 6.

8.) Summarise this text. in. no more than twuo sentences. Varigus answers.
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Reading Answers — Lesson 3

Retrieval

1. What do Christians helieve abhout Jesus? He is the son of God
2. What ‘3 persons’ do they bhelieve God consists of? God the
Father, God the Son, The Holy Spirit.

Vocabulary

3. What does the word ‘persecuted’ mean? Treating someone
unfairly, over o long, period. of time,

4. What is a ‘consequence ? A result to an action that is usually
negative.

Inference

5. What do you think a dove symholises? Peace, hope, purity.

6. How does this link to Christianity? Peace, love and hope links
to the Christian heliefs of the Holy Spirit and going to heaven
after death.




Reading Answers — Lesson 4

Reading for Productivity - Magnetic and Non-magnetic materials
Retrieval

1. Name 2 ohjects that contain magnets. Fridge Key
2. What force do magnets use? Push or Pull.

3. Why do plastic ohjects not get attracted to- magnets? They are not magnetic.

5. What does the word, inwisible mean?
Not able to he seen Magnetic
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Reading Answers — Lesson 5

1.

Name two technological developments in the last fifty years.
Computers, laptops, smartphones, games consoles.

. When wus the word, computer first used and what did it

mean? The word computer wus first used in 1613 to describe
people who did very accwrate calculations.

. What is o sorohan?
A sorohan is a type of abacus still used by children in Japan.
. Who wus the world's first computer programmer? Tick one.

Ada Lovelace.

Find and copy a word from the text that means the same as
cryptologist and explain what they do. Another word for
cryptoloyist is a codebreaker. A codebreaker deciphers
messages sent in code.

. When did the public first leawrn ahout the work done at

Bletchley Park during the Second World War? Tick one.
In the 1970s.




